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Shinku-La tunnel pertains to which of tho following ?

(A) Sikkim (B) Ladakh

"(C) Jammu and Kashmir (D) Himachal Pradesh

- W Frefafaa # A fFad wafim § 2

A) fafswm (B) @
(C) v 3R FTR (D) feuee wew

Digital India Act, 2023 will replace which of the following ?
(A) Information Technology Act, 2008

(B) Information Technology Act, 2020

(C) Information Technology Act, 2000

(D) Information Technology Act,‘ 201_1 ‘
Feforzer S s, 2023(FTferay § ¥ fraet S S 2
(A) T S sfufs, 2008 |

(B) g= renfirnt arfufTam, 2020

(C) T St wfufEE, 2000

(D) =1 Hrenfirent st 2011

“Jivaka Chintamani” wa‘s written by .....cooocininnnees

(A) Seethalai Sathanar (B) Tiruttakkatevar

(D) None of these

(C) Dandin

T Gl - | L | 1 ARPRORSONES g foen T el

(A) Hidems FIR | (B) foeaahaat

() =freT (D) T /A F T
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4.  Bangar alluvium soils are also known as :

(A) Loess | (B) Kankars |
(C) Vertisols : (D) Regur” '
TR el fng"}aﬁ Sk 1510

(A) | B FW

(C) s o ' (D) ¥R

5. Jhelum river risi_as from :
(A) Wular lake (B) Dul lake
(C? Verinag spring M\L’&% Potiwar, plateau
FH T I o% : -
@ TEE (/@ <= ¥
(C) afcm =wmm '_-(D)tﬁmﬁrm
6. Under W}ﬁch Constitutional ameﬁdment reservations to Emnoﬁimﬂy Weaker
Sections (EWS) #vas, given ? |
(A) 95" Amendment ~ ~  (B) 103™ Amendment
(C) 104" Amendment o D) 105" Amendment
o i e g S w9 A R T (Semgum.) = sme -

g ?
(A) 958 duF - (B) 1033 e
(C) 1049 eheA - (D) 1054 HEe
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7. Under which Article of the Constitution a Speaker allows any member to speak

in Parliament in his/her mother language 7
(A) Article 19(1) | (B) Article 343(1)
(C) Article 120(1) (D) Article 210(1)
ﬁﬁm%h@%mammfx@maﬁmﬁmﬂwwfiw
T AR WH F@ E 2
(A) TR 19(1) (B) 31g= 343(1)
(C) =R 120(1) (D =R 210(1) ‘

8. Which organisation releases the.SDG Indi;-lndex, which comprehensively
documents the progress made by India’s States and Union Territories towards

implementing the 2080 SDG targets ?

(A) RBI ﬂ!ju NITI Aayog

(C) NIPFP ¥ (D) SEBI
mmméfgm-ﬁwamm%,a‘rmomaaﬁﬁmm
%1 fem # W & T oiR Fx-wfen w3l g w1 oA A 6

FI@E ?
(A) 9dg fod &= (B) +ifa smam
(C) UAATZITUEYl (D) &
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9. What is the correct aséending order of Indian States on the basis of the pdvérty
headcount ratio (PHR) as per the Naltidnal Multidiméhsional Pq_ver_ty Index
measured by NITI Aayog ? ' .

(A) Rajasthan, Madhya Pradesh, Uttar Pradesh, Bihar
(B) Madhya Pradesh, Uttar Pradesh, Bihar, Rajasthan
(C) Bihar, Rajasthaﬁ Madhya Pradesh, Uttar Pradesh’”
(D) Uttar Pradesh, Bihar, Rajasthan, Madhya Pradesh
mmmm@mmmwﬁmmmm~ '
(Wm)%wwmwﬁuvmﬁmaﬁmmm%’ |
(A) ToRYM, A WY, SW W, faR | ‘
(B) 1 WRW, TW R, PR, TR
() faER, ToEEE, B W, SR R -
(D) IW W, faER, ToEH, §v

10. Lithosphere is known as 0
(B) Biotic component

(A) Abiotic component
(D) Neither (A) nor (B)

(C) Both (A) and (B)
fadrer e B S ®9 ° S ST ¥ e

(A) TSfae o - . (B) dfaw we=w
(C) (A) 3R (B) M - (D) (A) 3R (B) [ & T

11. First comprehensive pOpulation. policy was announced by Government of India-

on :
(A) 16 April, 1974 (B) 16 April, 1975

(C) 16 April, 1976 (D) 16 April, 1977
v T g Ve s e A @ s # e
(A) 16 T9d, 1974 (B) 16 38, 1975 '
(C) 16 e, 1976 | (D) 16 3¥d, 1977

5 " PTO.
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lé. Institute of Forest Biodiversity is located at :
(A) Dehradun (B) Allahabad
(C) Hyderabad : (D) Shimla
T Sa-fafaum dem el w fem ¥ 2
(A) e . (B) TwEER
(C) TR . (D) femen
13. The greatest worldwide use of water is for : ‘
| (A) Irriéation ' . (B) .. Indu‘stry
(C) Human consumption : /D)y Washing and flushing toilets
iyew TR W TR F R g I T
(A) fier \ B) wm
(C) WFE T D) Yo 3 vieER T
14. Which of i;he following is a biotic component ? |
(A Seil  HIMEXAM.COM B) Air
(C) Animal (D) Water

frofafe § ¥ A9 SfaF T=°F 7 ?

(A) fidt | (B) 9
(C) 5ig » (D) ~<
TBC : 23/P/I—A 6

bV, i, _



HIMAUHAL FIRAUDULCOIN MNUDLIWV ULkl y Vitrem ~ = --o--0s— — - — ==

15. International Day of Forests, 2023 pertains to the theme of :
(A) Forests and Energy
(B) Forests and Health
(C) Forests and sustainable production
(D) Forests and Biodiversity
SRt a7 feew, 2023 v fowa @ wefa & 2
@) o iR s
(B) &1 3R W@
(C) s 3R fowrs SaeA
(D) a9 iR Sa-fafawa
16. Tempefate grasslands of Africa are known.ds :
(A) The Steppes ™ (B) Th.e Velds
(C) The Downs : (D) The Pampas
W%Qﬁﬁmm%ﬂmﬁ@mm%: %
(A) RUd= N\ - (B) dTS
(C) = | (D) W
17. Who was thefirst President of Himalayan Hill States Regional Council (formed
in 1946) ? o
(A) Shivanand .Ramé.ul (B) Pandit Padam Dev
(C) Swami Purnanand (D) Shyam Wegi
Wﬁaé@ﬁwmm%ﬁﬁﬁm)%umawaaﬂaﬁ ?
(A) feam= T (B) tfeq wewaE
(C) @l g (D) vm o i
TBC : 23/P/I—A 7 ' P.T.O.
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18. Dodra-Kwar revolt took place under the leadership Of w..ococeeeeeeeee:
(A) Shobha Ram (B) Rana Hardev Singh
(C) Ran Bahadur Singh (D) None of these
Fe0-7aR fade forwd S d g @ ?
(A) W TH (B) T T ﬁT@'
(C) ™ =ery v . | (D)sqﬁﬁfrca
19. Who became the Chief Minister of Himachal Prade maximum times ?
(A) Y.S. Parmar | bha %mgh
(C) Shanta Kumar akur Ramlal
fearee wew A waifus ar q@E ?
(A) TE. TE. TWER ) =g fig
(C) ¥m= H{HR @ (D) TRt THATA
20. Winnowing refi )
(A) Se ath An from stalk
(B) X components from mixture
(C) Separation of large sized impurities
(D) Separation of water vapour from liquid
froaes @eam ®
(A) 2fedi 4 Z=avll &1 Yq9d T
(B) fRyw & =@gdl &l 94a &l
(C) a2 Uil & ggE HE
(D) 9@ a3 F1 WA 4 Y9F F
TBC : 23/P/1—A 8
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21. Given below are two statements ?3
Statement I : Gati Shakt; digital platform involves the creation of a common )
umbrella platform through which infrastructure projects can :
be planned and implemented. '
Statement II : Gati Shakti Digital platform is based on twelve pillars. :—
Inlthe light 6f the above statements, choose the most approy;riaté answer from E!TJ'
the options given below , \J
(A) Both Statement I and Statement II are correct %j
(B) Both Statement'I and Statement II are d@ncorrect™ %
(C) Statement I is correct and Statementyll is,incorrect %
(D) Statement I is incorrect and Stﬁh&‘ﬁis correct %
0. :
T pud fag R ,J)J/\' _
HI_ 1 : Tfa v fefsea }&W‘N

& wem & giEd < e S Jee
T o A O, T w feE S wEd ¥

w10 ; T W el Sewd A wi W eTaRa ¥
wﬁiﬁf@alaaﬁ%mmmﬁ%ﬁﬁ@ﬁmﬁﬁ%mﬁm%w
R |

() FoF 1 SR w1 S W@ E
(B) w4 I 3R %A II <1 7o &
(C) e 1 W&l ¥ M Feo 11 o[ ¥

(D) %97 I T ¢ 3R FuA I §& %
TBC : 23/P/I—A 9
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22, :
Given below are two statements

Statement I ; Honey Mission was launched in the year 2017

India.

Statement IT : Sweet Revolution promotes the apiculture 1n

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are ineorreéct
(C) Statement I is correct and Stéfement II is incorrect

(D) Statement I is incorrect and' Statement II 1s. correct

T A Hem g M E
FITI : maﬁmaftgﬁamadzowﬁﬁnéﬁl
Wll:xaﬁz(ﬁa);ﬁiﬁfwﬁnga@ﬁwﬁmﬁ%

mﬁ%ﬁamﬂ%mwmﬂ%ﬁa@ﬁmﬁ@cﬁ@v@ﬁwmw

Hfr _Q,“
s

(A) Fod 1 3R wed II S w8 €
- (B) amlaﬂzmml;aﬁﬁaa%
(©) For [ W@ % i e 11 e ¥

(D) $m1ﬂaa‘%3ﬂt$mllﬂﬁ%

TBC : 23/P/I—A 10



23. Given below are two statements :

Statement I : “The 1857 Revolt was a war of fanatic religionists against

Christians” — Statement by Sir James Outram.

Statement IT : “The so called First National War of Independencesof 1857
- is neither first, nor National, nor a war of Independence.”

— Statement by R.C. Majumdar.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are’ correct
(B) Both Statement I and Statement IT are incorfect_
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is.correct

= 2 w99 fer M ® . ,T{\@LOJ ; o e
FaT 1 1es7 FRERE W w SO @ faes 3 @11 — W S aeem

F HI

Faq 11 : @z ag=iad 1ss7wumu@am—ﬁﬁtwum,qamam
3 ByEd=d TaE g’ — FRH. ASERR F FE|

maﬁ%mmﬁf@@ﬁmﬁ%m-mmmw

el

(A) Fa 1 ot w11 2 @

(B) 74 1 &R %47 II S el &

(C) %94 1 |l % 3R Fa7 11 T @

(D) #4791 T4 & 3N w94 11 T ©

TBC : 23/P/I—A on P.T.O.



24. Given below are two statements :

- Statement I : ‘Samavartana’.—lis a category of Hindu Slaves.
Statexﬁent I : ’Sankarva’rman’v — is considered as the founder qf the Lohj,
Dyhasty of Kashmir.

In the light of the above statemen£s, choose the most appropriate ansvyer fro,
the opﬁons given below. .

(A) Béth Statement I and Statemen’g II aré“eorrect

(B). Both Staté_rnent I and Statemént II .are incorrect

(C) Statement I is correct and Statgment I1 is incorrect

(D) Statement I is incorrect and Sﬁatément II E’)s}gmect
| ’ 5 Qe -
AR wee g Mg ¥

oot 7
T IS m'eb‘raﬁq R TR B e I W mq-q:tnm S

'mlz‘wraéq’—ﬁigrm’ﬁ'

SuRfefEd ot @ mmmﬁ%ﬁﬁnﬁﬁr@iﬁﬁ@ﬁawmw
(A) F I 9R WO I S wE ¥

(B) W 1 G w01 T ¥

kC)E?W&'H@%;ﬂ'(EWIIW%

(D) maﬁlﬁﬁé%aﬁz#a’—r I 9 &

TBC : 23/P/I—A o SEL:



25. Given below are two statements

Statement I : President can dissolvé the Lok Sabha on the advice of Speaker.
Statement II : Rajya Sabha under Article 312 enjoys special power to'appoint
membeys of Human Right‘s-Cdmmission.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II ére correct

(B) Both Statement I and Statement II afe incorrect
(C) Statement I is corréct and Statefnentyll is incqri'ect

(D)- Statement I is incon_'ect and St?t/wdﬁ/ II is correct

w1 e srAd (Telle W m W R T TEA &L
ﬁll:aﬁsu%dﬁmﬁ@ﬁmﬁa%mmmwm'
TSN < frgf w0 |
IuRfafad @y & R W A= A W fowwdi 4 4@ g9@ sEa S\ F1 W
(A) wg I iR Fed 11 6 /e €
(B) FoH 1 @R %e 11 <Fi T ¥
() Eé}'—{l'{:{ﬁ%@f%ﬂ? Il e ©

(D) ®74 I e ¥ 3 FEd 11 W& ©

TBC : 23/P/1—A ' 13 P.T.O.



926. Given below are two statements :

Statement I : National Flag was adopted by the Constltuent Assemb]y
22 July, 1947

Statement II : Neelam Sanjiva Reddy has also worked as Speaker, Lok Sabh,
prior to his election as President of India.

In the light of the above statements, choose the moét appropriate answer from

the options given below :
(A) Both Statement I and Statement IIare correct
(B) Both Statement I and StatemefifMI are incorrect

(C) Statement I is correct and Statemént II is incorrect

(D) Statement I is incorréct and Statement II is correct

(A) %97 I 3R w97 11 3 wat &
(B)Emlaﬁ'{amnﬁm%
(C) %71 I 9@t ¥ 3R %97 II 7o &

(D) F&1 I e § 3R wuw 11w &
TBC : 23/P[1—A 14



27. Given below are two statements

Statement I : Strong Sustainability Rule is a rule which requires a separate

Preservation of each category of critical asset, assuming these

to be complements rather than substitutes.

Statement II : Weak Sustainability is a rule which seeks to maintain the

aggregate monetary value of the total stock.of the assets,
éssuming a high degree of substitutability among the various

asset types.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are,correct

(B) Both Statement I and Statement I]/are incorrect

(C) Statement I is correct and St MZ;,& II is incorrect

(D) Statement I is incorrect’a tatement II is correct -

T R ww g g € R - . |

F L w %@mﬁw%mmm@mﬁm

| éﬂﬁ%@mﬁtmﬁm‘sﬁiﬁmgﬁﬁw

3 9l T ol .

% 11 : mmwm%ﬁmﬁ%mmﬁmmwﬁ
T T F R @ R, 9w A g fabe e TR
e freamE &t 3= felt ©

mm&anmmﬁ%ﬁqmﬁmﬁ%meﬁxmww

(A) Fod 1 ik wod 11 3 W8 €

(B) Ho 1 3k weA II 31 T ©

() w1 W@ ¥ iR Fe I oW T

(D) e 1 e ¥ 3R w11 WE ¥ |

TBC : 23/P/I—A RECERDRS - _P.T.O.



0g. Given below are two statements

Statement I : The theory of Unbalanced Growth was advocated by Prof,
Hirschman.

Statement II : The theory' of Unbalanced Growth states that investment should
be first made in certain core sectors of the economy which
have a high degree of complementarity. Once, the process of

growth is initiated, it 'will spre‘ad to other sectors through

forward and backward linkages.

In the light of the above statements, choose the most appropnate answer from
the options given below :

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement Ilwére incorrect -

(C) Statement I is correct anidyStatement II is incorrect

(D) Statement I is incorrect and Statement II 13@#&&
IR E mz ¥ oo

I:mgﬁaaﬁm%ﬁ?maﬁ Oﬁﬁﬁzﬁﬁ#%aﬁu’n
w11 _: swigfen, faem =1 fagia aam a9 wed siforr & w3 gE
Mﬁmmmﬁ@mmaﬂwﬁlmw fawm =t

mwﬁwﬁ%aﬁ,aﬁmaﬁtﬁ%ﬁﬁﬁa%mm@mﬁ
' tha W

SR F & TR W A fy et 3 Y e SR SR wa -
(A) F99 1 3R wyq 11 S wa §
(B) &oF I 3R %y II SFi o &
(C) %91 1 W&l & 3R %y II o &
(D) Fod 1 T ¥ @i we I W@ ¥
TBC : 23/P/I—A | 16



0g. Given below are two statements

Statement I : The theory of Unbalanced Growth was advocated by Prof,
Hirschman.

Statement II : The theory' of Unbalanced Growth states that investment should
be first made in certain core sectors of the economy which
have a high degree of complementarity. Once, the process of

growth is initiated, it 'will spre‘ad to other sectors through

forward and backward linkages.

In the light of the above statements, choose the most appropnate answer from
the options given below :

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement Ilwére incorrect -

(C) Statement I is correct anidyStatement II is incorrect

(D) Statement I is incorrect and Statement II 13@#&&
IR E mz ¥ oo

I:mgﬁaaﬁm%ﬁ?maﬁ Oﬁﬁﬁzﬁﬁ#%aﬁu’n
w11 _: swigfen, faem =1 fagia aam a9 wed siforr & w3 gE
Mﬁmmmﬁ@mmaﬂwﬁlmw fawm =t

mwﬁwﬁ%aﬁ,aﬁmaﬁtﬁ%ﬁﬁﬁa%mm@mﬁ
' tha W

SR F & TR W A fy et 3 Y e SR SR wa -
(A) F99 1 3R wyq 11 S wa §
(B) &oF I 3R %y II SFi o &
(C) %91 1 W&l & 3R %y II o &
(D) Fod 1 T ¥ @i we I W@ ¥
TBC : 23/P/I—A | 16



¢9. Given below are two statements

Statement I : The percentage of the population éged 65 years and above

in India as of 2021, is around 6.2% of the Indian population.
Statement I : The population growth rate in India as of 2021 is around 0.98%.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are qorrecf
(B) Both Statement I and Statement II aré incorre(;t

(C) Statement I is correct and Statément II is incorrect

(D) Statement I is incorrect and, S_t:;ipeht 10 is correct _

ﬁ%ﬁﬁmﬁqnt%: , &qL -

woT 1 : 2021 T A 6%§ﬁvﬁﬂmafwmaﬁmmuﬁmw
TTEEAN, T 6.2% T .

Fo 11 :208), 7% W § e gfg T T 0.98% ¥

vwﬁmm&mmﬁmmﬁmﬁ%ﬂaﬁmmmmmw:

(A) aimlaﬂ'(mﬂﬁnaﬁﬂ‘é’f% |

(B) ®er I 3l e 11 SFl el &

(C)mmlﬁ%aﬁiﬁmﬂm%

D) w99 1 Tem ¥ iR w11 9@ ©

TBC : 23/PI—A - 17 P.T.O.



Q. Qven below are two statements :

Statement I : The percentage of the population tha ig employed )

sector in India as of 2021 is around 329, . the Ind
1a

population.

Statement II : The percentage of the population that i8 employeq ; in g

industrial sector in India as of 2021 4§ around 309, of th
e

Indian population.
In the light of the above statements choose the most appropnate answer fropm
the optlons given below :
(A) Both Statement I and Statement IT are correct
(B) Both Statement I and Statement Il ‘are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect aﬁd Stafement'II correct
FGT 1 : 2021 T, SRAH Far 8 ﬁéj@(\::m 1 Yfed WA e
S 32% %) | |

mn.zozlwmﬁaﬂaﬁﬁmaaﬁﬁﬁraaamwmwﬂuw
F1 T 309% ¥

mm?mmﬁﬁﬁmﬁWﬁﬂmﬁmmem
(A) F97 | Zn Z5 11 3Ff wt %

(B) %99 | 2n a7 Z7 11 M e

(C)Wloixta?rzmmnnm%

(D)amlmtz?nmmnaﬁ%



31. Given below are two statements

Statement I : Kutch Biosphere Reserve is known for Indian wild ass.

Statement 1I : Nilgiri Biosphere Reserve is famous for Red Parda,

In the light of the above statements, choose the most appropriéte answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II é‘re incorrect
(C) Statement I is correct and Statemen‘tI IT.is incorrect

(D) Statement I is incorrect and Statement II jsAcorrect -

&9 I : ﬁaﬁr&m&lﬁﬁaﬂmmma‘:mm%l

st T # SR W AR R T e § Y e S R g
ﬁfwﬁ:- |

(A) ®eA 1 3R FA Ila’ﬁinﬁ%

(B) w1 &R He II S o €

() Fu7 I T8 & 3K wed I To ¥

(D) Fe 1 T & 3R we I W@ ¥

TBC : 23/P/I—A 19 | \ P.T.O.



92, Given below are two statements :
Statement I @ Most species in the world go extinct because humans kil] them,

Statement II : The Western Ghats region harbours the largestuglohy)

population of Asian elephant.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statehxent IT a;ré incorrect

(C) Statement I is correct and Statément, 11 is incorrect

(D) Statement I is incorrect and Statement II is correct

Rasmiemi: V.0 &SWP

wuq I : fava § fusww E@}@aﬁ%mﬁwﬁwéﬁ%l
FgT 11 : giv=d), o, &5 o ﬁﬁaﬁﬁwéﬁwmﬂ,;ﬁmm'
o ) y

TuRfefan S & MR WA R T e § @ e S TR W T
AR - |

(A) Fg 1 3R &7 II 3H W &

(B) F9 I 3 %o II 3Fi T §

(C) T 1 9@ ¥ 3R Fo 11 Tem %

(D) %97 I Td § R Fuq 11 6
TBC : 23/P/I—A 20




33. Given below are two statements

Statement I : Force hag magnitude as well as direction.

Statement 1II : Sliding friction is smaller than static friction.

In the light of the above statéments, choose the most appropfiate‘answer from

the options given below :

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II dre incorrect

(C) Statement I is correct z‘and Statement IIris incorrect

(D) Statement I is incorrect and State t II is correct

o L R i ¥ A
m@amﬁ%'m'mﬁﬁﬁﬁﬁ%ﬁﬁ@msﬁammw
S STy

(A) Emlaﬂtﬁmlllﬁﬂﬁ%

I(B)ﬁmlaﬂ'{'&?ﬂﬂllﬁﬂ'@ﬂ%

(C) mmlﬂé%afn'mmnm%

(D) F&d 1 Ted & 3R e 11 96 &

TBC : 23/P/I—A 21 P.TO.



~4. Given below are two statements :

Statement I : The materials which allow heat to pass through them eagi]
are called insulators.

Statement II : The range of temperature in clinical thermométer is from 39¢¢

to 42°C.

In the light of the above statements, choose the most appropriate answer from

~ the options given below :

(A) Both Statement I and Statement IL are eorrect

(B) Both Statement I and Statement 11 a.re‘ incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is 1ncorrect and Statement II 18 correct

ﬂﬁa‘rwmﬁnm%

FT 1 ¢ SiaEd o mﬁt%w&a@ﬁ%ﬁ%mm
Wﬁ%l .
HIT I aazﬁantqﬁaﬁammmnﬁm 2°C=§‘42°C§m%|

m$w%mwwﬁﬁ@ﬁwa@maﬁawmw
Hifaa . '

(&) w1 S w11 O W@
(B) %&7 1 iR Fom 11 2 e &
(C) %91 I 98 ¥ iR %eq II 7o 2

(D) %1 I T § 3R %o II w&@ &

TBC : 23/P1—A , 22 9



3fi. Given below are tyw, statements

Statement I : Respongibie use of Artificial Intelligence in the Military

(REAIM-2023) Summit was held in Hague.
Statement II : India-Australia Summit was held in April, 2023.

In the light of the above statements, choose the most appropriate answer from

the options given below -

(A) Both Statement I and Statement II. are correct
(B) Both Statement I and Statement IL«are ificorrect

(C) Statement I is correct and Statémert II is incorrect

(D) Statement I is incorrect and, Sta

D wE R T E ;e

w1 ; faferdt i '$WW(REMM;2023)WW
R \gTeR & # ST o S

mllzm-a@mﬁ@wmaﬁa,.zoza-ﬁmmw1

'mﬁiﬁf&amﬁ%aﬂmmﬁﬁiﬂﬁﬁmﬁﬁﬁmsﬁaéﬂww

ﬁﬁ-a: .

(A) Fg 1 3w I 3 w8 &

(B) mmia?ﬁ$m,ilﬁm%

©) FH 1 T8 ¥ iR FE I Tem ¥

(D) a;qqlﬂaa%aﬂ'{'cﬁm II 98 ®
TBC : 23/PI—A | 23 ~ PrTO.



37. Given below are two statements :

Statement I : The ancient Kulindas had a Republican form of Government.

‘Statement II : The Rajas of Chamba belonged to the Chandra (Lupar) line

of the Rajputs.

In the light of the above statements, choose the most appropriate answer from

the options given below :
(A) Both Statement I and Statement II are cofréct
(B) Both Statement I and Statement II afe incorrect

(C) S‘tatement I is correct and Statemert Ilyis inc;orrect

(D) Statement I is ilncorrect and Statem'ﬁgms correct

R D Fo Ry o E ' |

F L 2 T R TR e o

T 10 SNE  TE # ows dw @ A

SRR e W 3 A T fedl @ W S I w T
i

(A) Fg7 I 3R weq II SF1 W &

.(B) %9 I 3R Fud 11 <Al T §

(C) Fa7 1 W&l ¢ 3R Fud 11 T &

(D)mmlnaa%aﬁtmanjuﬁf

TBC : 23/P/I—A 25 P.T.O.



38, Given bolow are two statements

Statement | Chandra Tal lake in Lahaul and Spiti district of Himachﬂ]
Pradesh is about 6000 m above sea level.

Statement 11 Suraj Tal lnke is the source of Spiti river in Hindachal Pradeg},

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are_correct

(B) Both Statement I and Statement IIfareyincorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

TN QA wuw fRu oo ¥ .

FAT 1 : forrm ey Sgred wifn fd A F FEad H 6000 .

e b T | |
Wllzmﬁﬁ@ﬁﬁgﬁmwmﬂM%l
SHffefed worf % MR W AR A T e % 2w W I
e

(A) %97 I 3R F99 II Hi |ar $
(B) %47 1 3R Fuq II SHi o &
(C) ®g49 I W&l & o &4 Il Toid &

(D) %97 1 Ted & 3R wed 11 96§
TBC : 23/P/I—A 26



39. Given below are two statemonts
Statement I : Bara Lacha Paes in Himachal Pradesh connects the Manali
with Kaza.
Statement II : Sonapani is the longest glacier of the Pir Panjalirange near

Rohtang Pags.

iate wer from
In the light of the above statements, choose the most n@w ans

the options given below :

(A) Both Statement I and Statement II aré correct

(A) 99 1 3R w97 II <1 T8 &
(B) %99 I 3R %94 II <Hl Tod &
(C) %9 I §¥l ¥ 3R %94 II e[ &

(D) 94 1 Ted & 3N w99 I 98 &
TBC : 23/P/I—A To97 P.T.O.



40. Given below are two statements :

i situated ;
Statement I : Soldiers of Nasiri Battalion (Gorkha Regiment) d in

Jutogh in Shimla started uprising in 1857.

Statement II : The states of Koti and Balsan of Himachal opposéd the British
rulers.

In the light of the above statements, choose the most appropriaté answer. from

the options given below :

(A) Both Statement I and Statement II aré cﬁrrect

(B) Both Statement I and Statement Al are inC(.)rrect

(C) Statement I is correct and Sthtemént II is incorrect _

(D) Statement I is incorrect.and Statement II is correct

I w9 g o ¥ .

| SRR W # SR WA R T el § 4w P W g
S :

(A) ®oF 1 3R %97 II <A wdt &

(B) = I 3R, %94 II <H 7o §

(C) %9 I §& & 3R FeA II Tem @

(D) Fo7 I T § 3R wyT 11 w8 &

TBC : 23/P/I—A 28




41. Arrange the follqwing missions in India from newest to oldest :

(1) Vande Bharat Mission (2) Kaveri Mission
(3) Mission Indradhanush _ (4)I Nipun Bharat Mission
Choose the correct answer from the options given below :
(A) (1), (3), (2), (4) (B) (2), (4), (1), (3)
(©) (2), 4), 3), (1) (D). (1), 4), (2), 3)
WA # Fretfafea faedl @ g 4 gy wE § omfem wfE
(1) o= wra fed (2) e
(3) e s | (4) Frgo wma frer
T Ry T fawed § W IW OGS i g
(A) (1), (3), (2), 4) “(B) (2), 4),(1), 3
(©) (@), 4), 3), (1) : D) (1), @), (2); (3)
42. Arrange the following schemes in ‘cl}ronologi'cal order from the year of
launch : | ' :
(1) Make in India : ' OLONJ\

(2) National Skill Development Missidn \j\/\,a
(3) Startup India - '
(4) Prime Minister’s' Employment Generation Programme.
Choose the correet answer from the options given below :
A). @, W), OPBN, B @), @), @), D) _
(C) (1), (2),44), (3) ' M @), @D, D), 3 d
ﬁqﬁﬁiﬁaﬁw&ﬁaﬁmmwaﬁ@mmﬁmﬁmaﬁm
(1) ¥% ¥ st
(2) TE FRE fawm e
' (3) Wi sfear .
(4) TUM "3 ISR G HTEHA
J feu U fawedi # | WA IW K A ﬁ%ﬁ)

C (A 4), (1), (2), 3) _ (B) (), (2), (3), (1)
(C) (1), (2), 4), (3) D (), 4), (1), 3)
TBC : 23/P/I—A | 29

P.T.O.




43. Arrange these British Viceroys in chronological order :

(1) Lord Lansdowne (2) Lord Northbrook
(3) Lord John Lawrence (4) Lord Elgin I
Choose the, correct answer from the options given below :
(A) (4), (3), (2), (1) . (B) (4), (2), (3), (1)
(©) 3), @), @), (1) D) (3), 4), (1), (2)
¥ fofen armml =) SRATER. T
(1) = v (2) = Alefgew
@) o€ W wi= @ m‘t%ﬁum
EARECE o I S ERLER
@ @ 6,0 ®),/ @, @, 3), 1)
©) @), @), @, 1) DIwl), @), (1), @)
44. Arrange these Medieval Rulers of Mewar in chronological order
(1) Hammir ' (2) Rana Kumbha
3) Rana Mokal ‘ ‘(4) Ra é Lakha

Choose the correct answer from !:hew)p 'Bﬁfgiven below :
&) @, @, &), @ @, 3, (), @)

© (),"@, (3), (2) D) (1), @), (2), (3)

(1) 7R (2) T FHEy
(3) oM T | ) T
3 Ry T el § ¥ w@ TR W T e
@06, (B) @), 3), ), 2)
©) ), @), (3), 2 i D) (1), @), @), 3)
TBC : 23/P/I—A ‘ 30




45. Arrange the following coal fields of India from North to South :

(1)' Neyveli (2) Umarsar

(3) Palana | (4) Kalakot

Choose the correct answer from the options given below :

(4) (D), 2), 3), (4) (B) (2), (4), (1), (3)

(C) (4), (3), (2), (1) D (@), (3), (2), (4)

A Frefafen Fow & @ oW d T @ IR s wi
1) e (2) SAWR

@ wem - 4) FEAFR

TR Ry T fawed # Wl IR T R FE &f\

(Aa) (1), (2), 3), @) B ), [ (4) &( 1, @ L

(C) @), 3),(2), 1) (1), (3), (2), 4 _ '
46. Arrange the following river basins of {ndia from lowest to highest in relation

to area : /

(1) Pennar \ - 2 (2) Tapi
(3) Kaveri /\ / (4) Narmada e
Choose the correc\t%nsw r from the options given below
(A) (1), (2), 3))) (B) (2), 3), @), (1)

- (©) 3), @2, ) D @), (2), @), 3

ya &1 frafefea =< oifedi i 3979 9 4 92 f9%e & STUR. W Hafeqd
Hiferd . o e i

1 =R . (2)

3) ==l , (@) T

T ey g fomedt F & 7 W W g I

A) (), 2, 3), @ . (B) (2),(3), 4), (1)

©) 3), @), @), 1) D) (4), (2), (1), (3)
TBC : 23/P/I—A ' 31

P.T.O.



ut money bill 2

47. As per Article 110 of the Constitution what is tru€ nho
ot 'n
(1) All the expenditure made by Prime Minister of Indi

4 ] i Of ﬂn ta
(2) Imposition, abolition, remission, alteration or regulation y tax
(3) Appropriation of money out of consolidated fund of Indi

(4) Custody of the consolidated fund or contingency fun , the payment

of money into or the withdrawal of money from 2 such fund

n below @

Choose the correct answer from the opti

(A) (2), (3), (4) , and (4)
(C) (1), (2), (3) : %), (4), (1)
zimaé:aj@:no%@ fra & an d T T ?
T gEY =H
L 4 . %E
(2) fw= q ammnﬁmrrﬁaﬁ?\g
N
(3) ﬁﬁ:ﬁﬁmwﬁrﬁc@\
\
(4) wrTd ﬁmﬁummf}ﬁi\ﬁﬁmmjﬁmmﬁmmm

71 =99 4 vq A

F13 fzu M fawed @ A WA W F G FAT

(A) (2), (3), (4) (B) (2) 31 (4)
(C) (1), (2), (3) (D) (3), (4), (1)
TBC : 23/P/[1—A 32



18. An:angoe the following statements in proper chronological order :

(1 Rio +20 Summit which rosulted in an outcomo document, “The Future We
Want” in which states committed to develop a suite of SDGs.
Millennium Summit which resulted in a sot of targets like environmentgl
sustainability, the eradication of extreme poverty and equality for women
now known as MDGQs. HIMEXAM.COM
Brundtland Report, “Our Common Future” emphasigéd thé.néed for the

integration of economic development, environmental protection and social .
Justxce and inc¢lusion

(2)

3)

(4) COP-27 Summit in which it was agreed to et up a Loss and Damage fund
to provide financial assistance to\poor nations, stricken by climate disaster

Choose the correct answer from the option# given below :

A) (D), @), ), @) @) (1), 4), 3

(C) @), (2), (3), Q) WD) (3), (2), (1), (4)

fefafa w0 B sha Feed 3§, srafag, Ff

1) & +20 R ayg o v\{;\mﬁ'{é’taiz”mwm
TEES TR, o, W T * T WeY F fawfam w0 F e
wag 2 =8 \(\f\

(2) WWW%WWM amﬁmn’ﬁé}ma-{a?'
ﬁtmﬁ%mmﬁﬁa@wwmmmﬁmﬂm
T ¥ -

(3) sicee fad, ! mmuﬁm"%aﬁﬁmﬁm mhmmmaiﬁtmqm
=g 3R FHEYA B TR hi EIThRd W qd fqr|

(4) COP27mwmﬁmmﬁmnﬁaéﬂﬁﬁﬁmmm
@ & fau wf v afs Fu e+ | qeafa == )

e ey e ¥ W@ I W T iR

(A) (1), (2), 3), (4) (B) (2), (1), 4), (3)
(C) (4), (2), (3), (1) D) (), (@), (1), 4)
TBC : 23/P/1—A ' 33

P.T.O.



49. Arrange the following Schemes in proper chronological order of their

implementation :

(1) Ayushman Bharat-PMJAY

@) Pradhan Mantri Ujjwala Yojana

3) Pradhan Mantri Gati Shakti Yojana

4) Pradhan Mantri Garib Kalyan Anna Yojana

Choose the correct answer from the options given below :

(A) (1), 4), (2), (3) (B) (2), (1), (4), 3

© @), (), @), (1) . D) @), @, D, @ & .
ﬁqfaf@amaﬁﬁmmhamﬁaﬁammﬁmﬁmmt
(1) SO S-S
(@) SuA A Ieeaen A
(3) WuR FER fa vl e , ‘
(4) WA WA TE HeAw A Bk v

23 feu Mo fawed # ¥ TG IWAEH FAd hifad

!

@A) (1), 4), (2), Q) @) (2), (D), 4), 3)
©) @), (@), d), 1)  J (D) (3), (2), (1), (4)
50. Consider the following, states :

(1) Haryana : (2) \ Punjab
(3) Uttar Pradesh

With referencestoytheStates e :
1000 males(according to censug2011), which one of the following is the correct

ascending order ? Choose the correct answer from the options given below :

@A) (1), @), 4), 3) B) ), 2), 3), (4)
(C) (2), 4), (1), (3) D), (@), (1), (3), (2)
frefafas T W faeR I 2 - »
1) FEm - (2) domE
(3) IW WW (@) R

S Ifceifad T & zrie_:ﬁi H, feamgura—wfeen 9fd 1000 T79 (m 201.1 H ATIR)
3 oyl 4, Pt 3 @ S T@ oA w9 & 2 A9 A T fawed 4 @ W@
(A) (1), (2), (4), (3) B) 1), (2), (3), (4)
(C) (2), (1), (1), (3) D @, ), Q)2

TBC : 23/P/I—A | 34



651. Consider the following Acts and Policy‘ :

(1) Water (Prevention and Conirol of Pollution) Act

(2) Water Cess Act
(8) The National Water Policy : \

(4) Air (Prevention and Contfol of Pollution) Act

With reference to the Acts and Policy mentioned above, in terms of their starting
year, which one of i;he following is\ the corfect,ascending order ?

Choose tixe correct ahswér‘ from the options given below :
@ W, @, @, @ . (B) @), @), 3), @)

(€ @), ), (), 3 - ‘(D). 4), (1), 3), (2)

Pt sfufrnt sty g e W

6)) W(maﬁmaﬂ?ﬁuﬂ&ﬁ;ﬁm
(2) v 3y efufEy

@) TS i
(4) g (YgWU st Uwpam iR fa=o) sifufmam

wsﬁa@aaﬁ:ﬁﬂﬂnfﬁﬁ%mﬁﬁ I AMfw a9 & deyf #, ﬁmﬁaﬁaa
H ] I & W wH T ?

3 A T R § @ W IR LA

A) ), @), 4, 3) (B) (1), (2), (3), 4)

P.T.O.

(©) (2), (4), (1), (3) D) @), 1), 3), @
TBC : 23/P/I—A - 385



b2. ‘Armnge the following conventions in chronological order :

(1) ‘Convention to combat desertification

(2) Convention on biological diversity

(3) Convention on trade in endnngered species

(4) Convention on wetlands

Choose the correct answer from the options given below 4

(A) @), (8), (1), (2) (B) (1), (2), (3), (4)

(© @), 3), (2), (1) D) (4), (2), 3 (1)

FIATHE w9 F FEfafee e @ @ Fifd

(1) wRwelE | froed @ fag =

2) Sfew fafarm = w5

(3) YWY Wi & =R W FEAIE

4) SRR W =

R fed # W SR E T e

(A 1), 3), ), @) ) (B) (1), (2), (3), 4)

(C) (4), (3), (2), (1) D) (4), (2), 3), (1)
53. Arrange the following states in relatxon to percentage of the total area under

forest cover from hlghest to lowest :
(2) ghalaya
(

(1) Mlzoram_

(3) Manipur agaland

Choose ‘the correct answer from options given below :

(A) (4), (2),41), 3) (B) (1), (2), 4), 3)

(©) (1), (2), (3), 4) D @), 3), (2), Q)
awm%mﬁa@ma‘:m%maﬁﬁwfaﬂaamﬁmé
fream @t 3R afea wifsa

1) fieirm (2) e

(3) HUR . - (4) S

ﬁ%ﬁqmﬁﬂﬁﬁﬂﬁdmmgmqﬁﬁﬁ

(A) (4), (2), (1), 3) (B) (1), (2), (4), (3)

©) ), @), 3), @ D) (4), 3), (2), 1)
TBC : 23/P/I—A 36



64. Arrange the following animal products in terms of percent protein from highest
to lowest :

(1) Cow milk (2) Egg

3) Meat (4) Fish

Choose the correct answer from the ‘options given below :
(A) (1), (2), (3), (4) (B) (2), (4), (1), (3) -
(C) (3), (4), (2), (1) (D) (1), (3), (2), (4)

'E""'a‘t‘“mmﬁuﬁmﬁﬁqaﬁm%mmw%ﬁﬁmuzﬁaﬂ
(1) T3 gy (2) 3@

(3) W™ (4) T

q foe o fawedi 3 W IW F A A

(A) (1), (2), (3), (4) (B) (2), (4),1), (3) -
(C) (3), (4), (2), (1) Dy @), @), (2), 4)

Arrange the following international groups in erder of their establishment from
older to newer :

(1) Paris Club

55.

(2) Organisation of Petroleunt Exportmg Countries (OPEC)
(3) Indo-Pacific Regional Dialegue (IPRD) :

(4) Wassenaar Arrangement ~ (}}/‘/\
Choose the corréct answer from the opfi

(A) (2), (4), (Du(3ys

(C) (1), @)(4), (3)
frafafas J@iea aga8 #
Hifd '
(1) 3w F™

(2) Wfagm fratas Q@ @1 W (INF)

(3) fég-vwia aeia ami (i)

(4) TEAR Hawdl

Hq feu U fawedi 4 A WEH IW F FAQ@ S

(A) (2), 4), (1), (3) (B) (1), (3), (4), (2)

(© (1, @), @, @) @ M), @), @), @)
TBC : 23/P/1—A | ' 37

B) 1), (3), (4), (2)
(D) (1), (2), (3), (4)

W & F9 R [ R A S w § ogaEied

P.T.O.



56. ‘urange the following deserts of world from smallest to largest in terms of Area .
1) Gobi : (2) Thar
'3) Kalahari (4) Taklimakan
Choose the correct answer from the options given below :
(A) (D), @), (3), (4) (B) ), 3, (@), (1)
© (), ), 3), 1) (D) (1), (3), (2), (4)
fova & Preafofem weer @ mﬁq&amaﬁmma@‘ﬂﬁ
=afiem Wi .
1) et @ = LN
@) e 4) wEEEE N
™ fxu g ’r‘am A W@ I T A
(A) D), (2), (3), (4) (B) (4), (3),(2), (1)
©) 2), (@), 3), (1) (D) @) (3), (2), 4)
57.

Arrange these events relabed to the Hlstory of Hnmachal Pradesh in chronological
order : ’

‘(1) Mass Movement in Nalagarh (2) Land Movement of Sirmour s
(3) Peasant Movement in Theog ' ( Farmer Movement in Chamba
Choose the correet answer from_t

(A) (2), M@ (3) (B) (1), (2), (3), (4)
(©) (), (2), (CHNE) D) (2), (D), (3), (4)

mm%m%wam@ﬁmm

(1) &g § 1 e (2) famR # 9yt sigem
(3) fodm # fram sridem @) W F fem s
ﬁ%ﬁq.mﬁw—ﬁﬁﬂnﬂmwgﬁﬁaﬁm:

A) @), ), (4), (3)

-options given below :

B) (1), @), (3), 4)
M) (2), (1), (3), (4)
. 38

© (1), (), @), (3)
 TBC: 23/PI—A




58. 'Among tho following which is correct about Mandi con.ﬂpirncy ?

(1) Mandi conspiracy took place under the leadership of Gadar Party in 1914-15

(2) Some Gadar Party metﬁ-bcrs from USA came to recruit workers'from M"andi
and Suket States | . ‘

(3) Miyan Jawahar and Qucen of Mandi Khairgarhi came undéf'their influence

4) |In this venture n;embcrs of Gadar Party.were successful

Choose the correct answer from the options given below :

@) @, @; @) (B) @), (3, @)

(C) (8), (4), (1) - ; @) (4) and (2)

et # @ e e e & w8

(1) =<t wsas 1914-15,F TR ,
@ T TS % SR ﬁé@gﬁnﬁﬁmwﬁwﬁﬁm
(3) ﬁmwau@fr@v@ﬁmmmﬁwﬁa@

@ Wa@mﬁwnﬁ%mﬁmﬁ?ﬁ

ﬁ%mmﬁmﬁﬁuﬁwmﬁqﬁaﬁﬁﬁ:.

(A) (1), (), 3) (B) (2), (3), (4)
(C) (3), (4), (1) . D) 4) 3R ().
TBC : 23/P/I—A . 39 | | . P.T.0.




59. Towards its journey to become full state what is conecﬁ about Himachal
Pradesh ?
(1) It became Chief Commissioner’s Province in 1948
(2) It became Union Territory in 1956 |
(8): It got its first Chief Minister in 1967
(4) It became 18th State of the Union in 1971
Choose the correct answer from the options given below :
AW, 6 (B) (3),@),(1)
(0 (1), @), @) ' D 3), @), (@) ‘
'stﬁauémﬁ@fmwaﬁfmﬁw%muﬁwvﬁ% ?
(1) W194sﬁg{§qa¥r§aﬁwmfﬂ
(2) ® 1956 § HNfEa WA &
 (3) T T wEen weE i 1967 § firew
(4) 7% uW W oteal w1971 Howw
R R fwed # ¥ W@ SW w R
@ w6 (B),8), (4), (1) -

- (©) 1), @), @) D)y @3, (2), (4)
60. Arrange the following elements in terms of their atomic number from lowest
" to highest : o

(1) Carbon  gm (2) ygen

(3) Sedium © - ¢ (4% Silicon
Choose the correct answer from t @é;tions given below :
(A) @G 2N )Y B 3, @), (D), @2
©(C) (2), @):(1), 3) - (D) (D), (2), (3), (4)
- Frefafen 1 B I T e B SR W R ¥ W@ W § s
St : e 2 '

(1) A | ©(9) aﬂa;ﬂtﬁ

(3) Hfsgw ¢4) ol

T e e fowe 1?{ Wl W H I Hitwy ;

(A) (4), (8), (2), (1) (B) (3), (4), (1), (2)'
(© @, @, 1,6 O M), @), @), @)

TBC : 23/P1—A 40



61. Consider the folfowing statements :

(1) Nuclear energy contributes Qbout iO% of the total electricity generation
in India

(2) India has 22 nuclear reactors in 7 power plants

(3) Nuclear energy is the fifth largest éource of élec_:trici‘ty in’India

(4) The upcoming nuclear power plant at Gorakhpﬁr village pertain to Uttar
Pradfash |

Choose the correct answer from the optioqs given below :

(A) (1) and (2) only - (B) (2) and (4) oniy

r@l}(g)\only ol

(©) (2 and (3) only @) (3)

ﬁﬂfﬁf@a'EﬁmmW‘; |
(D ma‘a"mfaa?ﬁméﬁ_ 'ﬁmﬁiﬂmmﬁwm%%l
(2) m%7mmmt‘mzﬁ®a%|
(3)Wmfwﬁfaﬁaﬁmmﬁmmzﬁa%l |

@) Tﬁt@g{*ﬁaﬁm’mmﬁ#&awmﬁﬁéﬁm%l

ﬁmmmﬁ@w@mmwaﬁﬁa

(A) ®ad (1) 3R (2) (B) wHad (2) aﬁz (4)
(C) @ad (2) 3R (3) (D) ®EE (3) 3R (4)
TBC : 23/P/I—A 41 2 ' P.TO.



62. Consider the following statements :

(1) Ken river passes through Panna Tiger Reserve
(2) Ken-Betwa link is a road network project |
(3) Ken and Betwa aré the tributaries of Chambal river,
(4) Matatila dam is located over Betwa river
Choose the correct answer from the optioﬁs givgn below :

" (A) (2) and (3) only | | " .(B) (1)"and (4) only'
(C) (1) and (3) only - (D) «(2) and (4) only |
Frefafen Fo W fear wifsTas :
ey a‘ﬂqa’r T IR R “@ﬁﬁtﬂ”f'%l.
@ AN e R 31
®) ¥ MR T T e el &1
(4)qm1awafaéaaj%amm%| |

9 frw Mo faed § ¥ WE SW F T R

(&) 7 (2) 3R (3) (B W (D) 3 @)
(C) Ja (1) 3R (3) _ (D) Fad (2) 3R (4)
TBC : 23/P/I—A 42

A



63. Consider the following statements :

3

(1) Aligarh Sdentiﬁc‘ Soctoty wad fhunded By 7akir Hussain in 1878
(2) Prgrthana Samaj was established onl 1866

(3) Paramhans Maﬁdali was established on 1849

(4) Manav Dharm Sabha was established on 1844

Choose the correct answer from the options givem, below 3
(A) (3) and (4) only - | l '(B). (1) an_sl (4) only

(Q) (2) and (4) only (D) 4(2) énd (3). only
Frefafan wod w fam Sy, ' |
W i s S e s g X 1878 H S
(2) g 'qtna ‘qﬁ-m 1866 F &

(3) m%ﬁaﬁm 1849»*35'{

(4) WFE W W F T 1844 ﬁ [

'ﬁ%ﬁqm.ﬁm_ﬁﬁuﬁ-mmmﬁﬁa :

() B @) IR@ B) Faw (1) 3R @)
C(© BE @ dR@ D F (2) R (3)
TBC : 23/P/I—A | | 43

P.T.O.



64. Consider the following statements :
(1) “Tuzuk-i-Baburi” was written in Pure Persian Language
(2) Poet Amir Khusro's first Masnavi on Historical subject is Qil‘ﬂ"“us'sadai“’
which was written in 1289
(3) “Jhanjhari Masjid” at Jaunpur was built by Hussain Shah
(4) Sufi Saint Sidi Maula was put to death by Sultan Jalaluddin Khalji fOT‘
attempting a rebellion |
Choose the correct answer from the options given below, :

(A) (1) and (4) only - (B) (3)sand(4) only

(C) (2) and (3) only (D) (2) and (4) only

A e THT FEE-WRA ¥ S 1289

(3) SR ¥ HFQ wfer w1 Fmi g9 R I s o
(4) qH Ha g T = g ST faet 3 R W v @ fr
% 92 TR far

ﬁmmﬁmﬁﬁw@mﬁwm:

(A) FEE (1) 3R (4) (B) ¥ (3) s (4)
(C) Fad (2) 31 (3) D) =ad (2) 3 (4)
TBC : 23/p/]—4 44

0



65. Consider the following statements :
(1) Congress Soci_alist Party was established in 1933

(2) The book “Marx, Gandhi and Socialism” was written by Jaya” Prakash
\ Naraya-n |
(3) The book “Radical Humanist” was written -by MN 'ROY
(4) The book “Unhappy India” was written by Lala Lajéat Rai
Choose the correct answer from the .options given below :
(A) (2) and (4) only £ (B) (2).and (3) only
(C) (1) and (4) only * OL D) (3) and (4) only |
m HE W CAIE
1) i e e 193 # g

) ‘o, mife O wefersa’ WWW%F@@ eﬂ\

“iﬁﬁaﬂqﬁw 5% T mﬁﬁa@”rq"n
4) ** TR e’ TaF A deua 19 3 e

qﬁﬁqnﬁﬁﬁ?ﬁ,ﬁﬁvﬂwm.wﬁm:

@A) F@ @ W@ (B) ®ad (2) alr (3)
©) Fa@ (1) IR (@) (D) ®aw (3) 3R (4)
TBC : 23/P/1—A 45 \

P.T.O.



66.

67.

Consider the following statements :
(1) Brown coal is known as Tertiary coal in India.

(2) Lignite coal is superior to peat in India.

"(3) The largest lignite deposits of India are at Korba.

(4) Nichahom coal field is located in Gujrat.
Choose the correct answer from the options given below :
(A) (1) and (2) only - - (B) ' (2) and (3) only

(C) (3) and (4) only (D) (1) and (4) only

. Fefefes s w faar Fif93 .

(D) 9Ra & R A B GEEE FEG B w9 F A AL
(2) WG # farge Fen @ ¥ A9 T N

3) WG ¥ fare & Wod 98 WeR FRa H A

(4) from FEa &7 TR § R ®

e g e fawed # ¥ @ SW A I s

(A) F=a (1) IR (2) (B @) iR 3)
(C) &aa (3) 3R (4) N Yo b (1) 3R (4)

Consider the following sta nts_ :
(1) . Sardar Sarovar praje¢t 1§ located on Sabarmat1 river of India.

(2) Bhawani Sagar irrigation,project is located in Erode district of Tamil Nadu.
(3) Mayurakashi irrigation pro_]ect pertains to Chambal river of India.

(4) Matatila project pertains to Betwa river of India.

Choose the cofrect answer from the options given below :

(A) (1) and (2) only (B) (2) and (4) only

(C) (3) and (4) only- (D) (1) and (3) only

frafafaa waai | faar S .

(1) mﬁmmqﬁﬁmmﬁmﬁm%l

(@) st R fiuE g dfteTg @ s A fem )

(3) wra = wgueh fo=r ofds "9 & ¥ FEiE R
(4) A H wraeien aRESE F Hag Sqa WA T
44 U T fwed # A W IW F T B

(A) FFa () alR(2) (B) @ (2) 3R (@)
() #a@ 3 M@ (D) *E (1) IR (8)
TBC : 23/P/1—A 46 )




68. Consider the following statements :

(1) Constitution’s 61gt amendment is related to the reduction in voting age.
(2) ‘Constitution’s 93rd amendment is related to reservation for EWS category.
() Constitution’s 86th amendment added Article 19Ain ‘the Constitution.

(4) In 2002, duty of parents to provide education to their children from 6 to

14 years was added.

Choose the correct answer from the optiong/given below :

(A) (1) and (2) only (2) and (3) only

(C) (3) and (4) only

Frafafaa so=5

» (D) 4) and (1) only
(1)#ﬁmm61ﬁ’ﬁ@mnﬁmaﬁﬁangwﬁﬁﬁdfm%l-

(2) Hﬁmm%ﬁmmaqﬁmmﬁmmﬁ%mm%wm%:
3) aﬁm%s&émﬁm%muﬁmﬁaﬁmAwﬁEW|

(4) mzoozﬁaqfwﬁﬁammsﬂ143&%@@1&1&1%@%@1@
T

%mmﬁmﬂﬂuﬁwmwaﬁﬁa

47

(A) F (1) sl ) - (B) R (2)31‘:1‘(3) .
~ (C) %94 (3) 3ir (4) (D) Fae (4) alk (1)
TBC : 23/P/I—A




69. Consider the following statements :
(1) Part-IX was inserted in the constitution by 73rd constitutional amendment

(2) Art. 243D provides reservation to women in Gram Panchayats

(3) Panchayats are not dependent on'States for their budgets.

(4) State legislature can’t make laws for auditing the accounts of Panchayats
Choose the correct answer from the options given below :

(A) (1) and (2) only (B) (2) and (3) only

(C) (3) and (4) only (D) (4) and (2) only

F=fafas sui = far #f2 |

1) wfaym § wm-IX 738 wifaufe S g S T 3

(2) erﬁzmnmqamﬁﬁmmmmm%l

(8) TEIEE oW Fwe ¥ ik '

(4) T @ e ¥ @#\m T T

e R T e § 3 9@ W W s

(A) 9 (1) 3R (2) (B) @aa. (2) 3R (3)

(C) =5a (3) 3R (4) (D) ‘=aa (4) 3R (2)
70. Consider the following statements : ¢

(1) Article 340 of the Constitution deals wit

for Backward Classes. '
(2) Article 341 of the.Constitution de 19 mth Scheduled Tnbes

(3) Article 342 of the Constitution is related to Scheduled Castes.
(4) Article 342A has been added“Mhrough 102nd Constitutional amendment.
Choose the correct,answer froth the options given below :

(A) (1) and(2) only (B) (2) and (3) only

(C) (3) and (4)\enly (D) (1) and (4) only

frefafga we9 W fa=R Fifa .

(1) vﬁmmaﬁmﬁmaﬁ%mﬁﬁgﬁaﬁwﬁa%n
(2) Wfaum #1 SR 341 STIYfaa e @ Fafm ¥

(3) Wiaur F FT=R 342 oY wifd ¥ Hafug 2

(4) IIHR 3424 dfaur & 1029 Fawfw SN g Sl T R
qe U T fawedi # @ W oSW oW g s

(A) Fad (1) 3R (2) (B) wad (2) 3R (3)

(C) Fad (3) 3R (4) (D) wad (1) 3R (4)

e appointment of Commission

TBC : 23/P/I—A 48



With referencoe to the World Development Roport 1993, improved health contributes
~ to cconomic growth in four ways, consider the following statements

(1) Tt reduces production losses caused by worker illness

' . L] !":
(2) 1t decreases the enrolment of children in schools and makes them wor
in learning

(8) Tt permits the use of natural resources that had been tetally or nearly
inaccessible because of disease

-

(4) Tt decreases for alternative uses resources_that'would otherwise have to
be spent on treating illness

Choose the correct answer from the onti

«%9&\0}«5 given below :
(A) (1) and (4) only : ). (1) and (3) only

(C) (1) and (2) only

(DS (2) and (4) only

ﬁﬁ,ﬁaﬁzwmaﬁﬁ@rﬁa’mﬁmﬁm .
@ %, Trafafes F@l W e w5

Tavs fawm e 1993

(1) = sfrs 90 S BR B A SO TEEE W A
2) e AL A =) H AHEFT B FH B T IR T e § agw a9 2

(3) ¥& S Wil HHEIEH & ITAN i AN @ & S AHERI- & BV G qTE
q AT T A |

@) T T T @ Sefes I @ AU wE @ S T RS s Sd @
| TAN W @S & a

T2 e T fawed # ¥ WR IW F I wRIE
(A) &ad (1) 3R (4)

(B) ad (1) 3R (3)
(C) @ad (1) 3T (2)

- (D) wEd (2) 3R (4)
TBC : 23/P/1—A 49 P.T.O.



72. Consider the following statements :
(1) The average temperature of India has increased by about 0.7°C since 1901,
(2) India will get its non-fossil energy capacity to 6560 GW by 2050.
(3) In 2019, China emitted 50 percent of the world GHGs:
(4) India will achieve the target of Net Zero carbon emissions by 2070,

Choose the correct answer from the options given below :

(A) (3) and (4) only (B) (1)"and (2) only
(C) (2) and (4) only (D) {(1) and (4) only
Fefafen so w faar sfgd ™ w\/wﬂ\

W wmamam%wy& i T 0.7 T W 9 @ 3

(2) T 205005 T, -Sfraws Sl amn 550 GW 7% W@ W )
3) 2019ﬁﬁqﬁﬁﬁﬁsouﬁ¥mﬁwmﬁmmﬁ#%m

(4) wzomaamsfqméamﬁwmmammml
ﬁmmﬁmﬁ@v@mmwaﬁm:-

(A) Fae (3) i (4) (B) & (1) sk (2)

(C) Fad (2) 3R (4) (D) %ad (1) 3R (4)
TBC : 23/P/I—A 50



73. Consider the following statements :

(1) Protozoans cause serious diseases like dysentery.
(2) Al microorganisms grow on our food and cause food poisonings
(@) Microorganisms can live in desert environment.

(4) All microorganisms are useful for commercial produetion of medicines and

alcohol.

/

Choose the correct answer from the options given below :

(A) (2) and (4) only (B) (1)'and (4) only

(C) (1) and (3) only U¢2) and (3) only

Tfafen w99 w fa=r |
(1) e REe s wR

@) il TS TS @ faue w3 §

(3) YT Werge % WaiEw # Wi w® WHA

(4) Tt Geaeia Wiy @ Towled & difvivgs 36 § STErT g |

3 fou U faeedl § ¥ WH IW W A HIR

(A) Fad (2) 3R (4) (B) ®ad (1) 3R (4)
(C) wad (1) 3R (3) D) Haa (2) 3R (3)
TBC : 23/P/1—A 51

P.T.0.



74,

75.

Consider the followin :
g statements : _ g o
(1) Manure and fertilizers are the main source of nutrient supply to crops.

(2) Inorganic farming is practised with minimal use of fertilisers and PeStl‘CIde_S-

) Growing of different crops on a piece of land in pre-planned succession 1s
called intercropping.

(4) .Bee'keeping i1s done to get wax.

- Choose the correct answer from the options given below :

(A) (1) and (2) only (B) (3) and (4) only

(C) (2) and (3) only (D) (1) and (4) only"
FYH W foEr FiA

() w5 % fog dusi & 77 90 @R oo s § 0 0

(2) mmwmammawm‘@ﬁw,%'

(3) %a@aﬁﬁfmwﬁaﬁqﬁﬁﬁmmém?ﬁ@m
g "

@) T e Am W ww w B fn e S

A Ty fomedt § F w@ sw oW g

(A) =aa (1) 3R (2) (B) /9o (3) 3R (4)

(C) Haa (2) 3R (3) (D) “&hEe (1) 3R (4)

Consider the following statements :

(1) India became a membér of Wassenaar Arrangement in 2023.

(2) The 17th Asia Pacific Régional Meeting was held in Singapore. -

(3) The 9th India-Oman Strategic Dialogue will nducted in Oman in 2024,

(4) Oman is at the Gateway of Strait of Gibral through which India imports
about 20% of its oil imports.

Choose the correctyanswer from the

(A) (1)eand (2) only

(C) (2) and (3) only

frefafed w9 W faer =+ .

(1) YRd 9EAR SFaeq &1 2023 § 9C& &9 41|

ons given below :
(B) (3) and (4) only
(D) (1) and (3) only

(@) 174t TR W a4 Se% famp § emifem w3

(3) a9 2024 H WA H 98 YRA-3NHE WHITdE ol SmfTd w1 ST

(4) 3TmF fseel SoeAEry & ¥av gR W ¢ 99 meam 4 9ra oy 99 o
T AT 20% S| FE :

9 feu U fawcedl § ¥ W SW F T Hid

(A) Had (1) 3R (2) (B) wHad (3) 2R (4)

(C) =ad (2) 317 (3) (D) e (1) iR (3)

TBC : 23/P/I—A - ' 52



76. Consider the following statements

(1) Sugarcane ig chiefly grown in Russia.

(2) Asbestos are mainly found in Canada.

(3) Copper is chiefly produced in Chile.

(4) Black soils are majorly required for the cultivationiof coffee.

Choose the correct answer from the options given below :

(A) (1) and (2) only - ~ (B)/f(2),and; (3) only
(C) (2) and (4) only . (D) (3 and (4) only -
_ S

fefafed wol w faar =ifed 4
(1) Wg@awﬁm
) ;ﬂm(t@_w) g@mmﬁm'a}a .

(3) "a‘i'aT qeTm; faet # 31 a ¥
O i

T2 i o fawed § @ W@ IW F I FiD

(A) Fad (1) 3R (2) | (B) 3a@ (2) 3R (3)
(C) dad (2) 3 1) (D) Haa (3) 3R (4)
TBC : 23/P/I—A 53

P.T.O.



77. Consider the following statements :

(1) In Himachal Pradesh, Grant from the Centre is the highest percentage
of revenue receipts.

(2) In Himachal Prt‘idesh, non-tax revenue is likely to increase to Rs. 3,769
crore in FY 2022-23 (BE). ‘

(3) In Himachal Pradesh, the tax revenue growth rate is estimated at 10.84
per cent in FY 2022-23 (BE).

(4) In Himachal Pradesh, growth of subsidy expenditure i§ estimated to be
4.44 per cent in FY 2022-23 (BE). |

Choose the correct answer from the options given below :

(A) (1) and (3) only - (B)T (2) and (3) only

(C) (1) and (2) only @), (3)° 4) only

Fefafa s w faar S

(1) feore ww § wora et v $% ¥ W9 IeE #5713

(2) fearae W §, - mmwﬁﬁaﬁzozzza (&%) ¥ 3,769 w3 % @A

F A B
(3)%wmamﬁﬁﬁaﬁzozzza(ﬁﬁ)ﬁmmqﬁ;anomuﬁmm
H ATA T,
(4) %maamﬁﬁﬁaﬁzozzzs(ﬁé)ﬁmmﬁ444maﬁq&m
ATAA R . |
ﬁéﬁqwﬁmﬁéuﬁwmw'aﬁﬁm:
(A) @aa (1) 3R (3) (B) whad (2) 3R (3)
(C) @ad (1) 3R (2) - (D) wad (3) 3R (4)

TBC : 23/P/I—A - 54



78. Consider the following statements -

(1) Himacha] Pradesh was ranked 18th out of 36 States/UTs/Cities in Export

Pmparednoss Index 2021.

(2) Lahaul. -Spiti is at the bottom of the ran}ungs in District Good Governance

Index 202;.

(3) Banks have Sanctioned Rs. 63.46 crore to 476 new enterprises under Stand

Up India scheme during this financial year 2022-23.

(4) Banks have funded 44,398 farmers throughsKisan Credit Cards during

2022-23.

Choose the correct answer from the options given below : =‘

(4) (1) and (3) only ' (B) (2) and (3) only
(C) (1) and (9) only | q)) 3) anaj{j_i)\only - s

Fefafed Fodi w fram nd M

(1) ﬁam%urﬁwmzozlqﬁ%\mam F 36 THI/AR-wTEd WST/IET |
18aT T fim

@) ﬁfﬁwwzozlﬁaﬁa—ﬁﬁ%ﬁmﬁ%l

(3) aﬁ%mﬁﬁmaﬁzozzzsﬁamégmgﬁm:hW%muswm
F1 63.46 FS TW W W@ T & T |

(4) S 7 2022-23 F A fram Bfee w1 & I § 44,398 fraE @ faw

T —

" T ————

Ofga fear &1 |
i fqu e famedi § 4 W& SW F g st
(A) a4 (1) 3R (3) (B) wad (2) 3iR (3) .
(C) wad (1) 3 (2) (D) %aa (3) 3R (4) |
TBC: 23/P/I—A 55 P.T.O.

g._ _rl 1 :—



79. Consider the following statements :

(1) The sex ratio in the state is 972 females per 1000 males, which is higher
than the national average of 940 females per 1000 males.

(2) Service is the primary occupation of people in Himachal Pradesh, withiover
90% of the population dependent on it for their livelihood.

(3) Himachal Pradesh has a per capita income of Rs. 3,58,369, which is higher
than the national average.

(4) The state has a high Human Development Index (HDI) of 0.707, which
is higher than the national average of 0:640.

Choose the correct answer from tlhe options given belo/w :

(A) (1) and (4) only (B) A1) and (3) only

(C) (1) and (2) only v (D), (2) and (4) only

Fafafen ®e w fa=r Fifa. .

(1) =9 7 femgea wia 1000, (e 972 Afecmedi &1 &, ?ﬁm‘azramamoqua?aﬁ
gfa IOOOW'@W%I '

(2) mmﬁwmmmmm%, 90%@&%&13@31@37@%
% T ga wm ok 3

(3) %mamﬁuﬁwﬁams,ss,aaga%,sﬁn@daﬁmﬁ afus 2
(4) T w1 I WA A gEEE (EEEE) 0.707 %, S U Sia 0.640

9 Ifys T
ﬁmmﬁm@‘fﬁﬁvﬁwmwaﬂm:
'(A) Had (1) 37 (4) ‘(B)'%da(l)aﬂ'{(s)
(C) wad (1) 3R (2) (D) Fad (2) 3 (4)

TBC : 23/P/I—A 56




80. Consider the following statements :
(1) The rainiest district in Himachal Pradesh is Kangra.
(2) Rainfall in the Alpine region of Himachal Pradesh varies be_i;ween
300-600 mm.
" (3) Winter season in Himachal Pradesh extends from Ocﬂtober‘to, March.
(4) Mandi is the hottest place in Himachal Pradesh.
Choose the correct answer from the options given beloﬁ :
(A) (2) and (4) only e : . (B) (3)‘an‘d (4) only
(©) (1) and (2) only 7 D ©ad® only

Frefafe Fedl ® RER FR

(1) mmﬁmﬁww'aﬁ‘mm%.
.(2)'mm$m &% # 300-600 fAciiiex & mex =wf BA ¥
- ® m'ﬁwﬁ:ﬁaa@a@g;mﬁw@%lv

4) émau&mﬁﬁﬁ@_ﬁm%.;+' s

3 for T Fd A @ WE SR B TR A

(A) Faa (2) 3R @) (B) Haw (3) aiR (4)
(C) daa (1) 3R (2) | D) FF (1) 3k (3)
TBC : 23/P/I—A : 5T ‘. ' P.T.O



81. Match List I with List II :

List-I List-II
(Scheme) (State)
(@) Vahan Mitra Sch'eme- (1) ~ Rajasthan
() Indira Rasoi Yojana (i) Madhya Pradesh
(c) Emissions Trading Scheme (fii) Andhra Pradesh
(d) Gaushala Project (lv) Gujrat

Choose the correct answer from the options given below
(@ &) @© @
A @ @ Gv) >G0)
B) @) @ @ @) d
C) @) @ @) (@v) N ¢
D) @) @ Gv) @)
g I w gt I 9 frem s s

it 1 . et 11

(Fhim) . (=)

(@ & firs, =6 ) TR
— (®) Y WL A (i) A w
- (c) ISR AT i) 3y ww
(d) T TR S Gy T

A R T ol § ¥ wd sw W e SR
@ ® © @ - -
@ & G @ G |
B) i) G) G Gv)
© @) & @ (@)
D GE) G ) G
TBC : 23/P/I—A 58




82. Match List I with List IT :

List-I | List-II
(Headqﬁarters) (Board)
(@) Guntur () . Coffee Board
(b) Bengaluru ) (i) Tobacco Board
(c) Kottayam (i) Tea Board &
(d) Kolkata. (iv) Rubber Board ‘

Choose the correct answer from the options given below =

(A)
(B)
(C)
D)

el I g 10 @ frem S

@ ® @© (@
@ G @) Gv)
@) @ G D) ) QL())//\
@ Go) G @ ' 8
@ GE) G )

geit 1 . A N -‘q\?:i;r.'ll

(qeTer) | ()
(@) TR () HE S
(b) TETE i - () T S
© FEad SR (i) W@ A
(d) Frerehm | () T A

3 feu M fawed H ¥ WEH SW H A W

(A)
(B)
©)
(D)

@ ® « @
G @) @@ (v
G) @@ @v) )
@) @) @) @)
@) @) @) @)

TBC : 23/P/I—A 69 P.M.0.




83. Match List I with List II :

List-I List-II
(Vijayanagar Kings) (Dynasty)
(@) Virupaksha-II (i)  Sangam
(b) Achyuta Ray (@) Tuluva
() Sriranga-I | (iit) Aravidu
(@ Thimma (v) Saluva

Choose the cbrrec; answer from the options given below :
@ ® © @

(A) @) @) @) (v)

| (B) @) @) (@(v) @0)
(C) @(v) @) @ @)
D) Gv) Gu) @) @)

T 1w gt I @ frem iR

et 1 N
(e o)
() farwy-II
(b) srogg @ N @) T
(c) -1 (i) oG
(@) fem (iv) g

T T fawed § ¥ 9§ W oW e # i
(@ b @© @
(A) @) @) @) (@v)
(B) @) @ Gv) @0)
C) Gv) G @ G
D) @Gv) @) @) @)
TBC : 23/P/I—A . 60



84. Match List I with List II :
List-I

List-1I
(Important wars) (End with Treaty)
Treaty of Madras

(@) First Carnatic War (1)
Treaty of Mangalore

(b) Third Carnatic War - (1D)
(c) First Anglo-Mysore War (iiiy Treaty of Paris
(d)- Second Anglo-Mysore War (iv) " Treaty of Aix-la-Chapelle

Choose the correct answer from the options given bélow

@ ® © @ . |
A) Gi) O G () o
B) Gv) G) G i) ~ N
© @ G @) @ '
D) G&)y @) @) O
gt 1w g 1R e

gt 1 T I
(EEqUl I5) | (dfr | |EE) |
(@) 999 FF AT (1) HEE H g
(b) qF FHACH IS (i) TR w1 EY
() e AEAAR G5 (i) U@ 1w
@) T sie-HER IS (v) -G W

ﬁﬁmﬂqﬁmﬁﬁﬁ‘é-mmwﬁﬁﬁz
@ ® © @ -

@A) G 6 @ G)

(B) Guv) G) @ i)

©) Gv) GiH @ G

D) Gii) ) Gv) @

'BC : 23/P/1—A 61



85. Match List I with List II:
List-I List-II

(Important Battles/War) (Year)

(@) Battle of Machhiwara (@) 1532

(b) Battle of Bilgram ~ _\ /'/ i) 15665

(¢) Battle of Rakshasi-Tangadix (iii) 1555
@ Battle of Dohariya - =~ ) 1540
Choose the correct answer from the options given below :

@ ®) @© @ ’

A @) (Guv) @) @)
B) @ Gv) @ )
© G @) O G
O G @ @ 6

gt 1% gt 11 9 frem st

gt I

(Fequt TTgTEEl/E)

(@) F=ETel #1 4§ G)- 1532

(b) foemm Fhme, * - Gi) 1565

- (O TS FbEed i) 1555
(d) <@ FHIS (v) 1540

f9 fer U fawedi 4 § 9@ W & gAE FifGE
@ 0 © @ |
@A) @ G Gi) G)
B) () (v) G (i)
©) Gi) Gv) &) @)
D) Gi) Gv) G G
TBC : 23/P/I—A 62



86. Match List I with List II ;
- List-I. List-II
(Pass) (Place) |
(@) Niti Pass (@) Arunachal Pradesh
(®) Rohtang Pass (ii) . Ladakh A
(c)  Likhapani Pass (i) Himachal Pradesh
(d) Khunjerab Pgés (v) Uttarakhand
Choose the correct answer from the options given below’:
(@ B © @@
B G G 6 G |
B) Gv) G G) 6 MLM
©) Gv) ) GiE) @ .
D) Gii) Gv) ) G
gt 1% g 11 Q firem it 4
T 1 el 10
(&) ()
@ Frelt ORI E KR
) ezl G wEE -
(0 framried 0 N @) femee ww
(d) G T \ (v) SWES
49 fu T fowed # ¥ W@ IW F gIE FiGD
@ B @© @@
(A) Gv) @) @ @)
B) @) ) G 6
©) Gv) G) G @
D) .G @) @) 6
TBC:23/PI—A 63




87. Match List I with List II :
List-I
(Doabs)

(@) Bist Doab
(b) Chaj Doab
(¢) Bari Doab

(d) Sind Doab

Choose the correct answer from the options given below : =

TBC : 23/P/1—A

List-11

(Rivers)

(2) Between Chenab and Jhelum
(ii) Between Beas and Ravi
(iii) Between Jhelum and Indus

(v) Between Beas and Sutlej

@ ® © @
A G G G @)
B) @) @ G )
© G G G 6 )
D @) G - G) G
- ?E'T I gt 119 faem
j} g 1 g 11
f (o) ()
¥ (a) forr Q= @ foma 3 Iom B A
(b) = e () =9 a T F A
(c) O SReTA (i) 3w 9 fiy & W
@ feu G (v) =T T T B T
9 fgr U fowed § ¥ W@ SW H @ S
@ ® © @
A @ @) G G
(B) () & @@ (i)
©) G G) @) O
O G @ G i)

64



93. Match List I with List II :

List-I List-I1
(Vitamin/Mineral) (Symptoms)
(@) Iron ({) Weak muscles
®) Todine (i) Anaemia,

(c) Calcium | (iii) Mental disability in. children
(d) Vitamin B1 | (iv) Tooth decay
Choose .the correct answer from the options given below *

@ ® @© @
(A) (ii? (@) (@u). @)

®) G) Gv) Gi) G J N

© @ @) O @ Q;g
D) & G ) GGEb) N N
T I w gEt I ¥ e wiRE . '
g : AR il
(Rrefir rafie) T (e
(@ L N\ ) g AR
(B) ImEEE N © @) SR |
(c) Bfeaams (i) w=d § TmtEw e
(d)- faafaw Bl - (iv) <asd |

@ B @ @ '
A) G) G G) @)
B) @) -Gv) GiD) @)
©) G GiH) G ()
D G G G G
TBC : 23/P/I—A ) 70



88.

Match List 1T with List I1 :

List-1 ' List-II
(@)  Domestic Violence Act (i) 1961
(b)  Sexual Harassment at (ii) 1987
workplace

(Prevention) Act

(©)  Commission for Sati (iir) 2013 C)O

(d) Dowry Prohibition Act (iv) P
Choose the correct answer from the optionsygiven below :

(@ B @ (@
A @ @ G Go)
(B) Gu) .G @) @)
(C) @) (fv) @) Gu

M) Gi) @) ()
T 1 =1 gl JI :
et 1 gt 11
(@) ' G) 1961
(b) w 4 Iedre (i) 1987
c) =ar (frow) smm &rE (iii) 2013
(d) T&st ™[ F (iv) 2005

3 few o fawedl § ¥ WA IW FOIAE FEA
(@ W @ (@
Ay O @ (i) Go)
(B) G(v) Gi) @) @)
(©) G Gv) @  GiD)
(D) Gi) G Gv) @)
TBC : 23/P/I—A 65

P.T.O.




91. Match List I with List II :
List-I List-11

(@) “Development as Freedom” () Amartya Sen

(b) “Fault Lines : How Hidden (J)) Raghuram Rajan
Fractures Still Threaten -
the World Economy”

(c) “India : The Emerging Giant” (iif)

(d) “The Making of India : "(iv) C. Rangarajan
Economic Policy and .
Nationalism, 1947-2017.”

Choose the correct answer from the options given below"

@ b)) @ (@
A G @& @) @Gv) n
N

B) @) @ @ G ~
© G 6, @ G W -
M G @ G GEb)
Tl 1w g I e R _
et 1 =it 11
@ ‘@A % w9 F el @ o
(6) "l AEH : TF feeT V() TOH-ToN
v feq 9o Tiace ‘
) VHem W F e W (i) wRw fow sTeomthn
“?«’ Afrn AF fear : sffwGy) . TroeH ‘
’ﬁﬁf 3R WEAR, 1947-2017"
ﬁﬁqwﬁmﬁﬁnﬁmmiﬁaﬁﬁﬁ:
@ & © @ "
(A) Gu) (@) @) (Go)
B) @) @ @) Gv)
©C) Gv) G @ D)
DM @& GG G G
IBC : 23/P/I—A - 68

Montek Singh Ahlawalia



97. Match List T with List II :

List-I List-1I
'(Organizations) A (Year)
@ Dujam Movement @ 1939
(®) All India State People (@) 1938
Conference N |
(©)  Himalayan Riyasati Praja (i) 1906
Mandal
@) Kunihar Praja Mandal (v) 1927

Choose the correct answer from the options given belbw
@ ®) @© @ |
A @ G) G () ,
B) G Gv) G) @) "N
© @ GG (iit) :
D) @G Gi) o) @
T I w R 1Y e st :

et 1 g 11
Gucy)! ‘ | ()
(@) T9MH e @ 1939

() T RIS T i) 1933

(c) Femmerdfemad o TS (i) 1906

(@) HFER FeTwew Gv) 1927

ﬂ%ﬁqwﬁmﬂﬁﬁ@ﬂﬁ,www‘ﬁm:
@ ® © @

A @& @ D) o)

B) (&) G @G 6

© @ G 6 G

D @) G () @)

TBC : 23/P/I—A. | T



96. Match List I with List II :

List-I List-I1

(Epithet) (Country)
(@) Land of Snow (i)  Aberdeen
()  Granite City (;i) Canada
(€©)  White City (iii) Belgrade
(d)  Pearl of Orient (iv) Hong Kong

Choose the correct answer from the optionsggiven below :
@ b @© @

A @) G Gv) i)

B) @ @ G G

©C) G @ Gu) i)

D) @) @) (o)

el 1

(@frare)
(@) % & 4y
(b) TR WK () AT
) ¥HL ES (i) dE
@) gd F1 At ' (iv) BRI

'ﬁﬁq'ﬂ'{mﬁﬁ"@?@maﬂﬁ?ﬁﬁﬁa:
@ ® © @ '

a) G G Gu) i)

B) ) G GiD) (o)

© G 6 Gv i)

@) @) ‘GiD) Gv) @)

. 23/P/I—A
TBC : 23/P/I—A | 73 P




94. Match List I with List II :

List-I ' | List-1I
(Quantity) : _ (Unit of Measprement?‘
(@ Weight @ - Cubic meter
() Volume b (i) Newton
(¢) Temperature ;:(iii) Pascal
(d) Pressure ' (iv) . Kelvin: -

Choose the cdrrect answer from the optionsr given below:
@ ® © @@

A) @) @ 6O Gid)

® @ O @ @y

©) @ @) 6. & -

D G G G G

oM

T I g IO .
et L o gE I
(Tfem) - CIEED)

(@) WX » G) T WX

(b) STET @) A

(c) dUHMA : (iii) T

@ T& Gv) e

T2 frg T fowed @ W S W g =i
@ ® © @ - -
@ G @ 6O i)
B) G @ Gv) (i)
© G) G @ 6
O @ G ) @)
TBC: 23/P/1—A ' . 71




100. Match List T with List IT :

List-1 List-II
(District) (wildlife Sanctuary)
(@) Kinnaur (i) Rupi Bhaba
(b) Chamba (i) Sechu Tuan Nala
(¢) Mandi (iti) Kibber
(d) Lahaul and Spiti (iv) Nargu

Choose the correct answer from the options given below :
@ ®) © @ |

A @) @) @Gi) (>(wv)

(B) @Guv) @) @ @ - '

© G) Gv) @ Gi) oy 'Oy
O @ G @) i) M

et 1 TR 10
(Rrem) (TS INTIRTA)

@ =R NN @ w R oA
() =y, N T (@) ¥ A A

@ W W i) feme

@ e e - . () WY :
Kﬁ%ﬁqwﬁﬁﬁﬁv'ﬂﬁsmﬁgﬂqﬁﬁﬁ:
@ ® © @ .
A) @ G) i) ()
B) (v) Gi) G) @
© G) ) @ i)
O @ G G G
TBC:23/PI—A = - SERTI

P.T.O.




95.  Match List I with List TI :

List-I List-IT

(Defence Exercise) (Participant Countries)
(@) Surya Kiran (i)  India and Indonesia
(5)  Garuda Shakti ~ (ft)  India and Nepal

(¢)  Vijay Prahar (1ii) India and Singapor
(d) SIMBEX (iv) India and US
Choose the correct answer from the options given b@

@ ® © @ |
A @ G G (>v) 4

(B) @) @G Gv) @)

(C) ) () Guv) (G60) |
D) @) Gv) @) «

qet 1
(A= 3ngm) |
(@ F4 fFm o () YRd 9 TemimEn
(b) TET il \ (i) YRd 9 A9
(c) fa=m . Gii) wRa 9 g
(d) fam= | (iv) YRG 9 Tg T SR

A9 feg U fawed A A WG I F gAE w0
(@) (b)) () (d)
(A) () (i) (i) (v)
B) (i) i) (o) G)
(C) G ) (v) (i)
(D) G Gv) i) )
TBC : 23/P/1—A 72

vz A



. |

98. Match List I with List II : :
List-I A List-II

(District) ' (Reserved Forest Area
in Sq. Km. in 2019-20)
(@) © Chamba @ 1050
®) Kullu Gi) 374
() Sirmaur (1) 164
(d) Kangra @Gv) 170

Choose the correct answer from the options given below :
@ ® © @

Q) Gi) G) 6 Gv)

B) G) Gi) G G

© & G) Go) - (i)

D G & G (i

T 1= g 1R sty v/'\

e 1 . ' i |
(Rem) (2019-20 & FRFYA T
| ' g @t ﬁa‘&ﬁtﬁﬂ )
(@) ==l | () 1050
() =L L i) 374 ‘
() TawdR Rl (i) 164
d) wiTe! R (iv) 70

2 feg m foed § ¥ W IW A A ﬁr@
@ W) @©
(A) @) @ @ @)
B) G) G O G .
©) @ @) Gy GiD)
@) G @ G) )
- TBC : 23/PI—A g



99.  Mntch List T with Liat II : -
List.I . l,intfll
(@) Himachal Pradesh Skill (1) 2018
Development Project
)  Himachal Pradesh Kaushal (i) 2017
Vikas Nigam
(©)  Mukhya Mantri Yuva (izr) 2014
Ajivika Yojana .
(d) Himachal Grihini Suvidha (lv) 2019
Yojana |
Choose the correct answer from the options given below :
@ @& © @ |
(A @) G 6 (iv)

B) @) ) Gi) (iv) - o’

© @ G G Gi) o
M) & Gi) G) D)
I F g IR frow =i
a1 , i
(@ feove wawi' v fo@ () 2018
LiteiEc|
®) ofege W FRE A () 2017
fm

(c) H&A Tl ga syifassl WA (i) 2014
(@) fewraer feoht gfaw @ Gv) 2019
AR e M fawed # R W@ sw W g Fte
@ @ © @
@A) Gi) O G) ()
B) () ) Gi) ()
© Gv) () Gi) Gid)
D G Gi) G) ()
TBC : 23/P/I—A 76






